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ABSTRACT 

This report provides ichthyoplankton and associated station 
and tow data from California Cooperative Oceanic Fisheries 
Investigations (CalCOFI) cruises conducted off California and 
Baja California in 1965. It is the fifteenth report in a series 
that presents these data for all biological-oceanographic CalCOFI 
surveys from 1951 to the present. A total of 1086 stations was 
occupied during 4 quarterly multivessel cruises over a survey 
area which extended from Pt. Reyes, California to Cape San 
Lazaro, Mexico and seaward to several hundred miles. The data 
are listed in a series of 6 tables; the background, methodology, 
and information necessary for interpretation and quantitative 
analysis of the data are presented in an accompanying text. All 

pertinent station and tow data, including volumes of water 
strained and standard haul factors, are listed in the first 
table. Another key table lists, by station and month, 
standardized counts of each of the 161 larval fish categories 
identified from survey samples. This and previous and subsequent 
reports make the CalCOFI ichthyoplankton and station data 
available to all investigators and serve as guides to the newly 
developed computer data base. 

INTRODUCTION 

This report, the fifteenth of a series, provides 

ichthyoplankton and associated station and tow data from 

California Cooperative Oceanic Fisheries Investigations (CalCOFT) 

joint biological-oceanographic survey cruises conducted in 1965. 

This program was initiated in 1949, under the sponsorship of the 

Marine Research Committee of the State of California, to study 

the population fluctuations of the Pacific sardine (Sardinops 

sagax) and the environmental factors that may play a role in such 

fluctuations. CalCOFI, known as the California Cooperative 

Sardine Research Program from 1949 to 1953, was made up of 

representatives of the South Pacific Fisheries Investigations 

(SPFI) of the U.S. Fish and Wildlife Service [now the La Jolla 

Laboratory, National Marine Fisheries Service (NMFS)], the 

Scripps Institution of Oceanography (SIO), the California 

Department of Fish and Game (CDFG), the California Academy of 

Sciences (CAS) and the Hopkins Marine Station of Stanford 

University. The first three of these agencies supplied ships and 

personnel to conduct the sea _ surveys. NMFS processed the 

plankton samples and analyzed the ichthyoplankton from them. SIO 

processed and analyzed the hydrographic samples and measurements 

and also analyzed invertebrate groups from the plankton samples. 

The boundaries, station placement, and sampling frequency 

for the CalCOFI survey area were based on the results of joint 

biological and oceanographic cruises conducted by NMFS and SIO 

during 1939-41. Those cruises were designed to collect sardine 

eggs and larvae and associated hydrographic data over the entire 

areal and seasonal spawning range of the _ species. On these 

survey cruises, plankton tows were made to 70 m, a depth which 



encompassed the vertical distribution of sardine eggs and larvae. 
Wide-ranging joint biological and oceanographic survey cruises 
were resumed in 1949 with sardine as the focus; however, an 
increasing interest in other biological components resulted in 
the deepening of standard tows to 140 m in 1951. This marked the 
beginning of truly quantitative ichthyoplankton sampling on 
CalCOFI surveys. 

Data resulting from CalCOFI surveys in 1965 have been 
published in a number of forms. Hydrographic data (Univ. of 
Calif., SIO, 1965, 1967) and zooplankton volumes (Smith, 1971) 
were presented in standard formats. Distributional maps of 
larvae of 5 taxa taken on CalCOFI surveys during 1965 are 
presented in the cCalCOFI Atlas series: northern anchovy 
(Engraulis mordax), Kramer and Ahlstrom, 1968; jack mackerel 
(Trachurus symmetricus) and Pacific hake (Merluccius productus) , 
Ahlstrom, 1969; Pacific sardine (Sardinops sagax), Kramer, 1970; 
rockfish (Sebastes spp.), Ahlstrom et al., 1978. 

A computer data base for eggs and larvae of sardine and 
anchovy, for larvae of hake, jack mackerel and Pacific mackerel 
(Scomber japonicus), and for eggs of Pacific saury (Cololabis 
saira) was established in 1969. The development of a data base 
for other fish larvae is a complex undertaking because competency 
of identification has evolved steadily over the past 38 years. 
We began the task of producing a CalCOFI ichthyoplankton data 
base and associated data report series in 1983. All available 
original records for 1965 were subjected to an extensive 
verification and editing process to produce this report. This 
and previous (Ambrose et al., 1987a,b,c; 1988; Sandknop et al., 
1987a,b; 1988a,b; Stevens et al., 1987a,b,c; Sumida et al., 
1987a,b; 1988) and subsequent reports make the CalCoFI 
ichthyoplankton and station data available to all investigators 
and serve as guides to the computer data base. The data base 
will be modified when additional errors are discovered and when 
composite taxa from the earlier years are reidentified. These 
reports are the fundamental reference documents against which 
subsequent changes in the data base can be compared. 

SAMPLING AREA AND PATTERN 

In 1965, CalCOFI survey cruises were conducted at quarterly 
intervals. A total of 1086 stations included in this data base 
waS occupied on 4 cruises, with an average of 272 stations per 
cruise (range 193-311). Coverage of the survey station pattern 
varied among cruises and the entire survey area was not covered 
on any single cruise (Figures 1-5, Table 1). The area off 
northern California (lines 40-57) was not covered in 1965. The 
area off central California (lines 60-77) was covered in January, 
April, and July. The area between Pt. Conception, California and 
Pt. San Juanico, Baja California (lines 80-137) was surveyed on 
all cruises and coverage extended to line 140, off Cape San 
Lazaro, in February and August. Coverage extended seaward to 
station 200 (approximately 600-700 miles offshore) on lines 60, 



70, 80, and 90 during Cruises 6501 and 6507 but typically did not 
extend beyoud station 90 or 100 (approximately 200-300 miles 

offshore)~. Some inshore stations were occupied during 1965 
which were not covered on early CalCOFI surveys. These stations 
were included in the data base but omitted from the station plots 
(Figures 2-5). 

Two vessels were employed on these cruises: the Black 
Douglas of NMFS and the Alexander Agassiz of SIO. Both vessels 

participated on each cruise except Cruise 6509, in which only the 
Black Douglas was used (Univ. of Calif., SIO 1965, 1967). 

SAMPLING GEAR AND METHODS 

The standard CalCOFI net used EEOm 1949) Geo) 19169) had! alam 
diameter mouth opening (0.785 m“ area) and an overall length of 
about 5 m. The net was constructed of 30xxx gauze, a heavy duty 

grade of silk bolting cloth, with a mesh size of 0.55 mm after 
shrinkage. The last 40 cm of the cone and the cod end were 
constructed of 56xxx grit gauze which had a mesh size of 0.25 mm 
after shrinkage. The net ring was fastened to a short 3-lead 
bridle connected to several meters of line which attached to the 
towing cable by a clamp. A current meter was suspended in the 
center of the net mouth to measure volume of water filtered (see 
Kramer etivall.-101 972) stom turther detaii's) ; 

The standard tow from 1951 through 1968 was an oblique haul 

to 140 m depth (to 15 m of the bottom in shallow areas) designed 
to. filter a constant amount of water per depth interval (ca. 
3m°/m of depth) over the vertical range of most ichthyoplankters. 

Hauls were made at a ship speed of 1.5-2.0 knots and initiated by 
clamping the net line to the towing cable with the 45 kg terminal 
weight about 10-15 m below the surface. The net was lowered to 

140 m depth by paying out 200 m of wire over a 4 minute period 
(35 m of depth/min.). After fishing at depth for 30 seconds, the 
net was retrieved at 20 m/min. (14 m depth/min.). The angle of 

stray of the towing cable was recorded every 30 seconds and 

lcalCOFI lines (Figure 6) are arranged perpendicular to the 

coastline and extend from the Canadian border (line 10) to below 

Cape siSan “lucas, ‘Baja California (lame 157)’. Stations were 

established on the basis of a perpendicular to line 80 (off Pt. 

Conception) at a point designated as station 60. Stations were 

plotted seaward and shoreward from station 60 on each line. 

Cardinal CalCOFI lines (those ending in "0") are 120 miles apart 

and usually bracket two ordinal lines (ending in "3" or "7"), so 

that lines are 40 miles apart over most of the pattern. Cardinal 

stations are 40 miles apart and typically these are separated by 

a station number ending in "5" so that stations are 20 miles 

apart out to station 90 on most lines. Stations are placed at 

closer intervals near the coast and islands to accommodate these 

features (see Kramer et al., 1972 for further details). 



maintained at 45° (+3°) by adjusting the ship speed and course. 

After reaching the surface, the net was washed down and the 

samples preserved in 5% formalin buffered with sodium borate. 

Flowmeter readings were made at the beginning and end of each 

tow. Detailed descriptions of gear and methods are given by 

Ahistrom (1953), Kramer et al. (1972), and Smith and Richardson 

(O77) 2 

LABORATORY PROCEDURES 

Laboratory processing began with the determination of a 
displacement volume for each sample (methods described in Staff, 
SPP 1953" “and Kramernassets taliyne U9) ir Zooplankton volumes 

(including ichthyoplankton) of samples collected in 1965 are 
presented graphically in Smith (1971). 

Sorting involved the removal of ichthyoplankton from the 

sample and identification and separation of: eggs and larvae of 

Pacific sardine and northern anchovy; larvae of Pacific hake; and 

eggs of Pacific saury. In 1965, each sample was’ sorted 

completely. 

A "standard haul factor" (SHF) was calculated for each tow 

to make them comparable and allow estimations of areal abundance. 

This factor adjusts the number of eggs or larvae in a haul to the 

number in 10 m~ of water strained per meter of depth fished. ima 

the vertical distribution of the species has been encompassed, 

then the adjusted value is equivalent to the number under 10 m 

of sea _ surface. The SHF is calculated for each haul by the 

formula: 

SHF = 10 D 
V 

where D = depth of haul = cosine of the average angle 
of stray of the towing cable multiplied by 
cable length (m) 

V = total volume of water (m>) strained 

during the haul 

V=Reaep 

total number of revolutions of the current 

meter during the haul 
= D 0) i) 0) vs) Il 

a = area (m2) of the mouth of the net 

p = length of column of water (m) needed to 

produce one revolution of the current 

meter. 

Tow depth, volume of water strained, and standard haul factor are 

listed in Table 1 for each tow taken during 1965. Detailed 



descriptions of factors involved in calculating these values are 
presented in Ahlstrom (1948), Kramer et al. (1972), and Smith and 

Richardson (1977). 

IDENTIFICATION 

Identification of ichthyoplankton species beyond those 
separated during the sorting process was carried out by a 
separate group of specialists. Ontogenetic stages of fishes are 
inherently difficult to identify and this is further complicated 
by the large number and diversity of species which contribute to 
the ichthyoplankton of the California Current region. Most 
identifications were accomplished by establishing ontogenetic 
series on the basis of morphology, meristics, and pigmentation 
and then identifying these series by relating them to known 
metamorphic, juvenile, or adult stages with overlapping features 
(Powles and Markle, 1984). A total of 159 taxa was identified 
for 1965, with 89 taken to species, 32 to genus, 32 to family, 
and 6 to order or suborder. Beginning in 1961, larvae in the 
families Paralepididae and Labridae were identified to genus or 
species. 

The task of producing a reliable and equitable 
ichthyoplankton data base required extensive procedures to 
verify, correct, and edit the original identifications. The 
primary data source was the original identification sheets (see 
Kramer et al., 1972, for examples); however, a critical resource 
used on all phases of this process was the CalCOFI 
ichthyoplankton collection in which the samples are archived. 
Throughout the course of CalCOFI ichthyoplankton studies, samples 
have been identified to the lowest taxon possible. In reviewing 
these identifications for the data base, our approach has’ been 
conservative and we have preserved those identifications and 
counts which we could confirm, while correcting as many of the 
errors as possible. After computer entry, taxonomic errors and 
inconsistencies in the data base were corrected and the most 

obvious identification errors were corrected. Our current 

knowledge of ichthyoplankton techniques coupled with a precise 
understanding of the development of identification competency in 
the program over the years allowed us to critically judge the 
historical records. Identifications were changed to different 
taxa, lumped to a higher taxonomic category, or given a more 
precise taxonomic name. In some cases, identifications of a 
taxon were inconsistent among cruises in a year. These records 
were made equitable by lumping to the higher taxonomic category 
to avoid biases that could result in quantitative 
misinterpretations. 

Next, statistical, seasonal, and geographic outliers were 
identified, employing a series of graphic summaries and listings. 
Examination of geographic outliers proved to be especially 
effective because of our accumulated knowledge of species 
distributions. In the course of examining samples for these 
outliers, other identification errors were discovered and 



eventually all taxa were scrutinized to some extent. Lastly, 
certain taxa were reexamined in all samples for the entire 

CalCOFI time series. These taxa were selected because of their 

commercial, ecological, phylogenetic, or zoogeographic importance 
or because taxonomic confusion was at the ordinal level. The 

following is a list of the taxa for 1965 which received special 
attention, with explanations and caveats intended to aid in 
quantitative interpretations: 

Anguilliformes - tentative and sporadic identifications to family 
or lower taxon lumped to order. 

Sardinops sagax - all specimens south of line 120 checked for 
misidentification of Opisthonema spp. Four large samples on 
Pinewls sainwAugust «(Stations ls 720), 1372s Sapir ranG 
137.23) appear to be a mixture of primarily small S. sagax 
and Opisthonema spp. which cannot be separated at this time. 

Engraulis mordax - some nearshore samples of small E. mordax 
may contain other anchovy genera which could not be 
differentiated. 

Nansenia spp. - all specimens checked and identified as N. 
candida or N. crassa; all specimens of these species near 
their range boundaries checked. 

Bathylagus spp. - includes small and/or disintegrated specimens 
of Bathylagus or Leuroglossus stilbius. 

Bathylagus milleri - all specimens checked. 

Stomiiformes - all specimens checked and identified to genus or 
species; residuals are small, poorly preserved specimens. 

Vinciguerria lucetia - specimens taken seaward of station 100 
checked for misidentification of V. poweriae; some V. 
poweriae may remain in V. lucetia samples from these 
stations because small larvae of the two species could not 
be differentiated; sporadic identification of V. poweriae 
began in 1961. 

Sternoptychidae - tentative and sporadic identifications of 
hatchetfishes to genus were lumped to family. 

Bathophilus spp. - all specimens checked. 

Eustomias spp. - all specimens checked. 

Photonectes spp. - all specimens checked. 

Tactostoma macropus - all specimens checked. 

Paralepididae - all specimens examined and identified to species; 
residuals are small, poorly preserved or unavailable 
specimens. 



Scopelarchidae - tentative and sporadic identifications to genus 
lumped to family. 

Lampanyctus spp. - tentative and sporadic identifications to 
species lumped to genus. 

Lampanyctus regalis - underrepresented because of inability to 

differentiate small larvae (<5 mm) from those of other 
species of the genus; counts may include other species of 
the genus because of difficulty in identifying larvae of 
this large and complex genus. 

Lampanyctus ritteri - comment for L. regalis applies to this 
species. 

Stenobrachius leucopsarus - all specimens taken seaward of 

station 100 checked. 

Triphoturus mexicanus - specimens taken seaward of station 100 
checked for misidentification of T. nigrescens. 

Centrobranchus spp. - all specimens checked. 

Diogenichthys atlanticus - all specimens at margins of range 
checked. 

Diogenichthys laternatus - all specimens at margins of range 
checked. 

Electrona rissoi - recognition of this species was inconsistent 
and others may be included in Protomyctophum crockeri or 
Myctophidae. 

Hygophum spp. - all specimens reidentified to species; residuals 
are small, poorly preserved or unavailable specimens. 

Hygophum atratum - all specimens checked. 

Hygophum reinhardtii - all specimens checked. 

Protomyctophum crockeri - some samples on northern lines may 

contain P. thompsoni, which was not identified originally. 

Physiculus spp. - all specimens examined. 

Ophidiiformes - this category did not exist originally and 
ophidiiform larvae were included in Brosmophycis marginata, 
"Otophidium", "Zoarcidae", and "blenny"; identifications of 
B. marginata proved to be mostly correct and "Zoarcidae" to 
be a yet unidentified ophidiiform species; all "Otophidium" 
and "blenny" were reexamined and the former included 
Ophidion scrippsae, Chilara taylori and other ophidiiform 
taxa (moved to order); "blenny" contained O. scrippsae, C. 

taylori, and other ophidiiform taxa in addition to true 
blennioids. 



Trachipteridae - tentative and sporadic identifications to genus 
were lumped to family. 

Melamphaes spp. - all identifications ascribed to Melamphaidae 
were reexamined and assigned to genus (Melamphaes, 
Poromitra) or species (Scopeloberyx robustus, Scopelogadus 

bispinosus). Larvae originally identified as Melamphaes spp. 
were not reexamined and this category may contain other 
melamphaid genera. 

Cottidae - all specimens checked. 

Oxylebius pictus - all specimens checked. 

Zaniolepis spp. - all specimens checked. 

Sebastes spp. - category may contain other scorpaenid genera, 
particularly in samples south of line 120. 

Blennioidei - this is the residual of the completely reexamined 
"blenny" category, which also contained various misidenti- 
fied ophidiiforms, and is now restricted to members of 
northern stichaeioid families and true blennioids (other 
than Hypsoblennius spp.) in the southern part of the 
pattern). 

Labridae - all specimens originally identified to family were 
reexamined and assigned to genus (Halichoeres) or species 
(Oxyjulis californica, Semicossyphus pulcher); residuals are 
small, poorly preserved or unavailable specimens. 

Pomacentridae - all specimens checked; now includes species other 
than Chromis punctipinnis, primarily in the south. 

Chromis punctipinnis - all specimens taken south of line 120 
checked. 

Mugil spp. - specimen checked. 

Howella brodiei - all specimens checked; originally included in 
Apogonidae; in this report we list H. brodiei in the family 
Apogonidae for convenience, recognizing that its systematic 
affinities are not resolved. 

Carangidae - all specimens checked; tentative and sporadic 
identifications to genus or species (except Trachurus 
symmetricus and Seriola lalandi) were lumped to family. 

Seriola lalandi - all specimens checked. 

Gerreidae - tentative and sporadic identifications to genus were 
lumped to family. 

Haemulidae - tentative and sporadic identifications to genus 
lumped to family. 



Girella nigricans - all specimens checked. 

Medialuna californiensis - all specimens checked. 

Caulolatilus princeps - all specimens checked. 

Sciaenidae - tentative and sporadic identifications to genus 
lumped to family. 

Scombridae - all larvae identified to this family or constituent 
taxa (except Scomber japonicus) were reexamined and reas- 
Signed; residuals are small, poorly preserved or unavailable 
specimens. 

Nomeidae - tentative identifications to genus lumped to family. 

Pleuronectiformes - all specimens of this category (originally 
called "flatfish") were examined and reidentified; residuals 
are small, poorly preserved or unavailable specimens. 

Bothidae - all specimens examined and reassigned; most were 
assigned to various paralichthyid genera. 

Citharichthys spp. - all larvae identified to species were lumped 
to genus except C. stigmaeus; category include: larvae of 
Etropus spp. 

Citharichthys stigmaeus - includes larvae larger than ca. 4.5 mm; 
smaller larvae are in Citharichthys spp. 

Paralichthys spp. - all specimens of this genus were examined and 
most were assigned to P. californicus or Xystreurys 
liolepis. 

Syacium ovale - all specimens examined. 

Xystreurys liolepis - originally misidentified as Paralichthys 
californicus; all specimens reidentified. 

Glyptocephalus zachirus - all specimens examined. 

Hypsopsetta guttulata - specimens were originally identified as 
Pleuronichthys spp. 

Microstomus pacificus - all specimens examined. 

Pleuronichthys spp. - all larvae of this genus and constituent 
species were examined and assigned to species; residuals are 
small, poorly preserved or unavailable specimens. 

Psettichthys melanostictus - all specimens examined. 



COMPUTER ENTRY AND EDITING 

Each taxon on the original identification sheets was given a 
3-digit code based on the list of codes in Haight et al. (1979). 
Taxon codes and counts from these sheets were keypunched by 
cruise and station, along with pertinent station and tow data, 
and entered into the VAX 11/780 computer at the University of 
California, San Diego, Computing Center. After entries were 
completed for an entire year, print-out listings of taxa and 
counts on each station were compared with the original data 
sheets to eliminate keypunch errors. Next, data in the file were 
cross-checked with data on an existing file which contained: 
station and tow data; numbers of eggs of sardine, anchovy, and 

saury; numbers of larvae of sardine, anchovy, hake, jack 
mackerel, and Pacific mackerel; total number of fish eggs; and 
total number of fish larvae. 

Discrepancies in ichthyoplankton data in these two files 
were corrected by inspecting original records from the sorting 
laboratory, the original ichthyoplankton identification sheets, 
and the samples themselves. Station and tow data discrepancies 
between the two files were corrected by reviewing ships' logs and 
deck tow sheets, original records from the sorting laboratory, 
cruise announcements, publications, header information on the 
ichthyoplankton identification sheets, and station plots 
generated for each cruise. Eventually all station and tow data 
were checked by comparing these sources. 

The corrected ichthyoplankton data base was then examined 
statistically and outliers were found and checked as_ above. 

Distributional plots were then prepared for each taxon and these 
were checked by reviewing the data sources mentioned above and by 
examining archived specimens. A listing of each taxon by station 
(Table 4) was produced, which became the primary document for 
subsequent checks. Misidentifications found in geographic 
outlier checks and other misidentifications and data problems 
discovered in the course of examining archived samples resulted 
in several iterations of Table 4. Finally, totals in Table 4 
were checked against annual summaries of incidence and abundance 
(Tables 2 and 3). Ecological analyses of the data were conducted 
concurrently with editing procedures and provided cross-checks 
that allowed correction of errors. 

SPECIES SUMMARY 

Larvae of northern anchovy (Engraulis mordax) represented 

57% of all fish larvae taken on CalCOFI cruises during 1965 and 
numbered eight times as many as the gonostomatid Vinciguerria 
lucetia, the next most abundant species with 7% of the total 
larvae Vi(Tablere2ye ws) Northern anchovy also ranked first in 
incidence; V. lucetia ranked 3rd. Rockfish larvae, a composite 
of about 70 species of the genus Sebastes, ranked 3rd in number 
(4.4% of the total larvae) and 4th in incidence. Pacific hake, 
Merluccius productus, with 3.9% of the total larvae, ranked 4th 
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in number and 8th in incidence. The lanternfish Triphoturus 
mexicanus ranked 5th in number and 2nd in incidence and the 
deepsea smelt Leuroglossus stilbius ranked 6th in number and 7th 
in incidence; each contributed 3.2% to the total number of 
larvae. The Pacific sardine, Sardinops sagax, ranked 7th with 
3.0% of the total number, but ranked 27th in incidence, an 
indication of several large samples. The sanddab genus 
Citharichthys ranked 8th in number (2.6%) and 5th in incidence. 
The remaining top 10 taxa were the lanternfish Stenobrachius 
leucopsarus (2.2%) and the jack mackerel, Trachurus symmetricus 

(1.5%). These two species ranked 10th and 17th, respectively, in 
incidence. The 10 taxa contributed 88% to the total larvae 
collected in 1965. The remaining 12% was distributed among 149 
taxa, plus the unidentified and disintegrated categories. The 
top 10 taxa included 4 midwater species, 3 coastal pelagic 
species, and 3 coastal demersal taxa. 

EXPLANATION OF TABLES 

Table 1 - This table lists by cruise the pertinent station and 
tow data for 1965, the volume of water filtered and 

standand haute factor) (fom each tow, the  pencenGort 
sample sorted, and the total numbers of fish eggs and 
larvae. CalCOFI cruises are designated by four digits; 
the first two indicate the year and the second two the 
month. Within each cruise the data are listed in order 
of increasing line and station number (southerly and 
seaward directions); the order of station occupancy is 
shown on the station charts (Figures 2-5). Stations 

are designated by two groups of digits; the first set 
indicates the line and decimal fraction and the second 
set indicates the station on the line. Time is listed 
as Pacific Standard Time at the start of each tow in 
24-hour designation. Methods for determining tow 
depth, volume of water strained, standard haul factor, 

and percent sorted were described in the methods 
section. The values for total fish eggs and larvae 
represent raw counts (unadjusted for percent sorted or 
standard haul factor). Ship codes are as follows: BD, 
Black Douglas; AX, Alexander Agassiz. 

Table 2 - This table lists pooled occurrences of all larval fish 
taxa taken during 1965 in ranked order. 

Table 3 - This table lists pooled counts of all larval fish taxa 
taken during 1965 in ranked order. Numbers are 
adjusted for percent sorted and standard haul factors. 

Table 4 - This table gives numbers of fish larvae for each taxon, 
listed by station and calendar month in which the tow 
was taken. Counts are adjusted for percent of sample 
sorted and standard haul factor. Average values are 
given for stations occupied more than once during a 
month. See Table 1 for station and tow data and Table 
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6 for listing of stations with multiple occupancies 
during a month. Multiple occupancies occurred when a 
station was occupied more than once during a_ calendar 
month. The orders are listed in "phylogenetic" 
sequence modified from Nelson (1984). Subtaxa within 
each order are listed alphabetically. Page numbers for 

each taxon are given in the index at the end of the 
report. 

Table 5 - This table is a summary of pooled occurrences of all 
larval fish taxa taken on CalCOFI surveys from 1961 to 
1969. ‘Taxa are listed in the same order as in Table 4. 

Table 6 - List of stations with multiple occupancies in one month 
during 1965. 
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6509 

Figure 1. Composite arrangement of diagrammatic charts showing 
areas sampled on each CalCOFI cruise during 1965. 
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TABLE 2. Pooled occurrences of fish larvae taken during CalCOFI 
cruises in 1965. 

Rank Taxon Occurrences 

i: Engraulis mordax 618 
2 Triphoturus mexicanus 494 
3 Vinciguerria lucetia 436 
4 Sebastes spp. 387 
5 Citharichthys spp. 342 
6 Disintegrated fish larva SS 
7 Leuroglossus stilbius 300 
8 Merluccius productus 290 
9 Cyclothone spp. 265 

10 Stenobrachius leucopsarus 263 
10 Unidentified fish larva 263 
2 Protomyctophum crockeri 261 
13} Diogenichthys laternatus 249 
14 Lampanyctus ritteri 234 
5 Myctophidae 222 
16 Bathylagus wesethi 220 
7, Trachurus symmetricus 214 
18 Lampanyctus spp. 183 
19 Ceratoscopelus townsendi 156 
20 Melamphaes spp. 1RSyab 
2 Sciaenidae 147 
22 Tarletonbeania crenularis 13/2. 
23 Bathylagus ochotensis 127 
24 Diogenichthys atlanticus ama) 
25 Symbolophorus californiensis aba tal 
26 Paralichthys californicus 107 
27 Sardinops sagax 104 
27 Gobiidae 104 
29 Hygophum atratum 103 
30 Stomias atriventer 100 
Si Pleuronichthys verticalis 88 
32 Gonichthys tenuiculus 81 
a2 Parophrys vetulus 81 
34 Diaphus spp. 80 
a5 Symphurus spp. US 
36 Hypsoblennius spp. 713 
Si Lestidiops ringens 67 
38 Citharichthys stigmaeus 65 
39 Clinidae 64 
40 Serranidae 59 
40 Sternoptychidae 59 
42 Chauliodus macouni y7/ 
43 Icichthys lockingtoni 53 
44 Argentina sialis 49 
45 Peprilus simillimus 45 
46 Hippoglossina stomata 44 
46 Notoscopelus resplendens 44 
48 Synodus spp. 42 
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TABLE 2. 

Rank 

(contr) 

Taxon 

Ophidion scrippsae 
Chiasmodontidae 
Chromis punctipinnis 
Ophidiiformes 
Cottidae 
Halichoeres spp. 
Etrumeus acuminatus 
Scomber japonicus 
Lyopsetta exilis 
Scopelarchidae 
Idiacanthus antrostomus 
Poromitra spp. 
Lampadena urophaos 
Oxyjulis californica 
Tetragonurus cuvieri 
Prionotus spp. 
Chilara taylori 
Trichiuridae 
Semicossyphus pulcher 

Hygophum reinhardtii 

Carangidae 
Sphyraena argentea 

Scorpaena spp. 
Anguilliformes 
Nansenia crassa 
Agonidae 
Notolychnus valdiviae 
Scorpaenichthys marmoratus 
Sebastolobus spp. 
Trachipteridae 
Scopelosaurus spp. 
Myctophum nitidulum 
Gonostomatidae 
Ceratioidei 
Microstoma microstoma 
Cyclopteridae 
Microstomus pacificus 

Gerreidae 
Seriola lalandi 
Scopelogadus bispinosus 
Oxylebius pictus 
Syngnathus spp. 
Haemulidae 
Diogenichthys spp. 
Hygophum spp. 
Hypsopsetta guttulata 

Coryphaena hippurus 
Pleuronichthys ritteri 
Sarda chiliensis 

49 
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TABLE 2. (cont. ) 

Rank Taxon Occurrences 

96 Lampanyctus regalis 9 

96 Psettichthys melanostictus 9 

96 Nansenia candida 9 

96 Brama spp. S) 

96 Notolepis risso 9 
96 Aristostomias scintillans 9 
96 Cololabis saira ) 
96 Gobiesocidae o 

106 Xystreurys liolepis 8 
106 Auxis spp. 8 
106 Atherinidae 8 
106 Gempylidae 8 
106 Loweina rara 8 

106 Hypsypops rubicundus 8 
106 Pomacentridae 8 
nats Scopeloberyx robustus 7 
mas! Bathylagus spp. 7 
a3 Zaniolepis spp. 7 
es Brosmophycis marginata 7 
als Ichthyococcus spp. 7 
ats) Labridae 7 
Tas Macroramphosus gracilis 7 
Teas Caulolatilus princeps 7 
1A Photonectes spp. 6 

AA Stemonosudis macrura 6 
123 Pleuronichthys coenosus 5 
123 Scomberomorus spp. 5 
123 Medialuna californiensis 5 
126 Glyptocephalus zachirus 4 
126 Howella brodiei 4 
126 Bathophilus spp. 4 
126 Pleuronectiformes 4 

126 Scombridae 4 
126 Pleuronichthys decurrens 4 
126 Sudis atrox 4 
126 Blennioidei 4 

134 Vinciguerria poweriae 3 
134 Paralepididae 3 
134 Tetraodontidae 3 
134 Girella nigricans 3 
134 Macrouridae 3 
134 Bathylagus pacificus 3 
134 Physiculus spp. 3 
134 Diplophos taenia 3 
1A Tactostoma macropus 2 
142 Lepidopsetta bilineata 2 
142 Opisthonema spp. 2 
142 Centrobranchus spp. 2 
142 Exocoetidae 2 
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TABLE 2. (cont. ) 

Rank Taxon 

142 Electrona rissoi 

148 Nomeidae 

148 Pleuronichthys spp. 

148 Hexagrammidae 

148 Eustomias spp. 

148 Caristius macropus 

148 Hemiramphidae 

148 Soleidae 

148 Bathylagus milleri 

148 Stomiiformes 

148 Triphoturus nigrescens 

148 Syacium ovale 

148 Paralepis atlantica 

148 Evermannellidae 

148 Mugil spp. 

Sul 

Occurrences 
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TABLE 3. Pooled numbers of fish larvae taken during CalCOFI 
cruises in 1965. Counts are adjusted for percent of 
sample sorted and standard haul factor (see text). 

Rank Taxon Count 

1 Engraulis mordax 320562 
2 Vinciguerria lucetia 40034 
3 Sebastes spp. 24848 
4 Merluccius productus 21963 
5 Triphoturus mexicanus TS} F/S) 
6 Leuroglossus stilbius Aion. 
i] Sardinops sagax 16659 
8 Citharichthys spp. 14756 
9 Stenobrachius leucopsarus 12130 
10 Trachurus symmetricus 8456 
a: Sciaenidae 6466 
152 Diogenichthys laternatus 6277 
1S) Bathylagus wesethi 3418 
14 Serranidae 3214 
ES Unidentified fish larva 2918 
16 Cyclothone spp. 2748 
iL7/ Ceratoscopelus townsendi 2S 
18 Disintegrated fish larva 2039 
19 Lampanyctus ritteri 2021 
20 Haemulidae 1974 
21 Symphurus spp. 1794 
22 Etrumeus acuminatus WSS 
23 Lampanyctus spp. 1451 
24 Myctophidae 1308 
25 Protomyctophum crockeri 1247 
26 Tarletonbeania crenularis 1203 
27 Bathylagus ochotensis 1190 
28 Prionotus spp. 57, 
29 Diogenichthys atlanticus 889 
30 Parophrys vetulus 861 

31 Symbolophorus californiensis 72. 
37 Chromis punctipinnis HAL 
33 Hygophum atratum 709 
34 Carangidae 698 
35 Hypsypops rubicundus 680 
36 Diaphus spp. 670 
37] Gobiidae 669 
38 Melamphaes spp. 655 
39 Paralichthys californicus 631 
40 Synodus spp. S/S 
4l Stomias atriventer 518 
42 Ophidion scrippsae 516 

43 Gonichthys tenuiculus 501 
44 Hypsoblennius spp. 448 
45 Halichoeres spp. 439 
46 Ophidiiformes 418 
47 Peprilus simillimus 390 
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TABLE 3. (cont.) 

Rank Taxon Count 

48 Clinidae 349 
49 Sphyraena argentea 344 

50 Pleuronichthys verticalis SANT) 
Syl Icichthys lockingtoni sil 
52 Argentina sialis 306 
53 Citharichthys stigmaeus 293 
54 Notoscopelus resplendens 290 
55 Lestidiops ringens 287 
56 Scomber japonicus 286 
Sy7/ Hygophum reinhardtii 259 
58 Gerreidae 250 
59 Sternoptychidae 236 
60 Oxyjulis californica 227 
61 Tetragonurus cuvieri 219 
62 Chauliodus macouni ANP 
63 Anguilliformes ZAK0 
64 Auxis spp. 195 
65 Hippoglossina stomata 190 
66 Cottidae 18a 
66 Scomberomorus spp. 181 
66 Lampadena urophaos 181 
69 Lyopsetta exilis 176 
70 Idiacanthus antrostomus THO 
Yak Chiasmodontidae WS\A 
72 Notolychnus valdiviae Asal 
73 Pomacentridae 140 
74 Gonostomatidae eS 7 
nS Scopelarchidae 136 
76 Scorpaena spp. LAS) 
V7 Poromitra spp. 118 
78 Trichiuridae 109 
79 Chilara taylori 104 
80 Nansenia crassa 102 
81 Semicossyphus pulcher 101 
82 Sarda chiliensis 95 
82 Atherinidae 95 
84 Seriola lalandi 93 
85 Sebastolobus spp. 87 
86 Myctophum nitidulum 75 
87 Agonidae 74 
88 Ceratioidei 65 
89 Hygophum spp. 64 

90 Scopelosaurus spp. 62 
90 Microstomus pacificus 62 
S)F Scorpaenichthys marmoratus 61 
92 Microstoma microstoma 61 
94 Trachipteridae 3) // 
95 Scopeloberyx robustus 50 
95 Scopelogadus bispinosus 50 
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TABLE 3. 

Rank 

(Cone. ) 

Taxon 

Opisthonema spp. 
Xystreurys liolepis 
Diogenichthys spp. 
Bathylagus spp. 

Brama spp. 

Nansenia candida 
Lampanyctus regalis 
Notolepis risso 
Labridae 
Oxylebius pictus 
Gobiesocidae 
Cyclopteridae 
Aristostomias scintillans 
Coryphaena hippurus 
Cololabis saira 
Pleuronichthys ritteri 
Gempylidae 
Syngnathus spp. 
Photonectes spp. 
Hypsopsetta guttulata 
Vinciguerria poweriae 
Macroramphosus gracilis 
Psettichthys melanostictus 
Ichthyococcus spp. 

Loweina rara 
Caulolatilus princeps 
Blennioidei 
Zaniolepis spp. 
Brosmophycis marginata 
Sudis atrox 
Glyptocephalus zachirus 

Stemonosudis macrura 
Scombridae 
Paralepididae 
Medialuna californiensis 
Bathophilus spp. 
Pleuronichthys coenosus 
Pleuronichthys decurrens 

Nomeidae 
Bathylagus pacificus 
Howella brodiei 
Syacium ovale 
Physiculus spp. 
Macrouridae 
Lepidopsetta bilineata 
Pleuronectiformes 
Diplophos taenia 
Centrobranchus spp. 
Girella nigricans 
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TABLE! 3 (conte) 

Rank Taxon 

146 Exocoetidae 
146 Electrona rissoi 
146 Tactostoma macropus 
146 Stomiiformes 

150 Tetraodontidae 
ILL Bathylagus milleri 
IEGAL Paralepis atlantica 
15a: Caristius macropus 
IEGyAl Mugil spp. 
Sai Evermannellidae 

IL Sjal Eustomias spp. 
iB Triphoturus nigrescens 
IL Ghal Pleuronichthys spp. 
159 Soleidae 

160 Hemiramphidae 
160 Hexagrammidae 

Total 
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TABLE 6. List of stations which were occupied twice 
during 1965. 

Station Month 

113.0 30.0 2 

23)0 42.0 2 

270 40.0 2 

PMS) 

in one month 
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HUSCOMTAS "SpPpé “Sess occ cece 6 oes Coa oe See eee 89 
PNOCONCCECS MSP amelie! clei ele) eieiel ciel olelionel oie cievelish elelcfer en sikelie 89 
BACEOSGON a mela CEO USM leis ene elelere) oreo a o).e lice el elie oiiotienonemene 89 

Stomiidae 
SEOMTAS PACT VENCET » x! k\s/eisis. ss 66'S s 60's 6 o's: eieleus oterematons 90 

Myctophiformes 
Alepisauroidei 

BVeTManneinldGaee s26 2.0 <.0.6.2 2 Ges 2 Ss AS OS AO SRR «23.4 91 
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Paraliepididde™ .%.. se htite tk A Reh. ees pete © eee Pore 92 
LESEVATOPS4 FIMGENS | 2.5 Sacre bis oie stare eia eae MONS) eoial a etatete 92 
NOGCOLEDIUS EUSSON 5 sys a iol evers cas) senate a clayebeys ie aiedels a eterna 93 
Paralepis ACTANCE CA: aetale« 15> cease ela iateies aie oO cro test's 93 
SECMONOSUGLS MACEUFAY Vs sheus ive 216 euaseieiciele eee 2 Sees oo os 94 
SUGLUS ACTOR wctaxe joyene omciewobaners nea us a heaeaese we ueuoneccke teks ee sO0¢ 94 

Chloropthalmoidei 
Notosudidae 

SCOPCLOSAUTUSE SPPiew sekersicueless: olelene eUeWeiehe noel obs KoNebehetenetelelel= 94 

SCOPSarcChilGaey sreyanstosadokutovonsdoxexecere: siete ondetone cteNemer ete tem ERs 5 bie 94 
Myctophoidei 

My GE Oph day 2. .c, 5) eels 6. 6 is.6cs) sheicisie. e-e)s) save) 0) oie are eh elo aie she teal eotere 95 
Lampanyctinae 

€eratoscopelus COWNSENGI” . «ssc. s ss cles cas eau 99 
DEAPRUS | SPPe.' a) so «16s steyel anole one.@ ov sce, es. 41a cote Geatee ate hateae 101 
THAMNVAACTAN MEOPMAOS: selokel skekeonele)s) eneisho tele clelichslstohens ooodc 103 

TrAMPDATNY GEUSUISPP en moked oNohen ste otelencueheloieieiats loaatcuotenate ions toners ics 104 

Lampany CLUS! FEGALLS. esspigiveveis.o:2 Tee aekate Retenete eeeye. se 107 
LAMPANYCEUS! FIEECEI. Caserevnkavexs.0, 2,0 setieieieis Matera wats 5) = 107 
Nocol ychnus” ValGiVLaAC™ wee s0.5 ss cies 6 os © Selah af otte 110 
INOCOSCOPECLUS! GESPLENACTIS ajc ciene crelotele) seolenekekeuclotehetel =irsiie alatal 
Stenobrachius: LEuCOPSATUS. .« <isidiw «(ete Haletele! siefakehate ss e aLaLZ, 
Prt pPROCUTUS MCXLCANUS, «5 Meertsas ists shee eae ws 715 
Pri photurus NLGhESCENS 2 + Wonvetele seats Ghalewestste aieeate:cclieie 20 

Myctophinae 
CenGrobRanChuSmSPDie) serrei oi helcketehelelctel shedol holon a00caggOd 2a: 
DNOGEHUCHER YS SDP ov ois) si-cieiohsier'e ws tod woke) oes sy ewes Mn 5 ot Ln: 
DiogeniChEhnys .aAtLantLcus) 4s i 05, «sn ae Odean. alae 
Diogenichthys Laternatus . « s,<, o's = sie. slack Se OOOUE 123 
PLECCFONALELSSOIUs: « oa vsre: eos wre o- Make akehads Searaiated saat ekade ears 126 
Gonrenthys Cenuteulus Vs. as «\ SOOO UD oo bOOCoOnoOus ad 126 
Jebyeajalelthii Fy NGy 6ooooU OO OdUCDOODDODOODOO oC OOOO DOU NUDE OT, 
My Gophum attra CUM 1 oieloe ol cten el chatered sh osek-lalelaielanevencholele) sie 7) 
HyGoOphum FELNRATAECLD, Wa «tes a\s cine o «io ©. 6 Slaleae cia erenereiee 129 
LOWei Na Fara" o's iss'c0 swiss <6 w a's Ke ables os sR ee 129 
Myctophum NLEAGUL UM) sq 5.0606 6-0 «600s «ae tee oo ores 130 
ProlomyCCophnum <CLOCKEEL c/a < delcicievclel= sbelewe aeiersicheiare « 130 
Symbolophorus californiensis ........ hr eM epseres sf 134 
farletonbeania’-CrenulLariS oc veed sas Bele tae eme «een 136 

Synodontoidei 
Synodontidae 

SIV MOALMSI ISP Pie) ueratel eel! sis} cl elleiicioll one ciel sitene tor ieioiehenenenemeneneleuens ts 138 
Gadiformes 

Merlucciidae 
Merlucei us’ pPFrOdUCEUS,. < n.%/s «= « altateie « ein) fate aeate = <= 139 

: Moridae 
PRYSTCULUS' ‘SPP's Sis, 2.0 e's "siele’s 6 sie s we oe cle saterete ae Sete 143 

MACKOUPLEGC® 606s ts os Sk. bis SSeS ed ERT OTD RUIN ebie eels ete 143 
2} 9) ols Ko In is alo h oy 1-1 RRR RECARO TERR AAR ARC A MCHC ECCS ISUCCRCRCREHOTCHO CEONOLG O. O90) Gio C 143 

Bythitidae 
BEOSMOPAY CLSS MALO TMACA wiehelielsisislcisic cle etoletersiersisieteteneterene 144 

Ophidiidae 
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Chilara taylori 
Ophidion scrippsae 

Lophiiformes 
Ceratioidei 
Gobiesociformes 

Gobiesocidae 
Beloniformes 

Exocoetidae 
Hemiramphidae 
Scomberesocidae 

Cololabis saira 
Atheriniformes 

Atherinidae 
Lampriformes 

Trachipteridae 
Beryciformes 

Melamphaidae 
Melamphaes spp. 
Poromitra spp. 
Scopeloberyx robustus .. 
Scopelogadus bispinosus 

Syngnathiformes 
Macroramphosidae 

Macroramphosus gracilis 
Syngnathidae 

Syngnathus spp. 
Scorpaeniformes 
Cottoidei 

Agonidae 
Cottidae 

@"{e) (ee <e <e' (e' (©, (e"e' (eo 6! ©) 6 16) (0.0 10: «10 © 0 

coer eew eer eee eee eee 

cece eee eee eee ee 

corer eee eee eee eee eee 

Scorpaenichthys marmoratus 
Cyclopteridae 
Hexagrammidae 

Oxylebius pictus 
Zaniolepis spp. 

Scorpaenoidei 
Scorpaenidae 

Scorpaena spp. 
Sebastes spp. 

Sebastolobus spp. 
Triglidae 

Prionotus spp. 
Perciformes 
Blennioidei 

Blenniidae 
Hypsoblennius spp. 

Clinidae 
Gobioidei 

Gobiidae 
Labroidei 

Labridae 

ecereee 

eecereeeer eee eee eee eevee 

oe eee ewe eee eee eee eee 
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eoecereec reece ee eee eee eee ee eee 

@ (oe \e ‘oe je ‘@ ‘© (0) 6 le -efe -e ¢ © ele © ee « 6 0 © 6 

eee eere eee eee eee eee ee eee ese 

: 0.0 4e! (se) ee, oe 6 je Je \6 (ele (6 @ e1e.e © 6 © 

eerecerec eee eee eee eee ee eee eee 

eee er eee eee eee eer eee eee eee 

eceoecerere eee eee eee ee ee ew oe 

ceoeoeceer eee eee ee eee eee ee ee ee 

156 

156 

6a! 

161 

162 

162 
163 

6S 

166 
167 



Oxy7Ulase CAlPLOFIM Cap se faitee toretedaiotove reve vate tase toie teaaie tate aes tone 167 
Semicossyphus pulcher ......... sooooooOoCoooeDOOOC 168 

POMACSTHEBUGAAST Sener os dis us vevcesucvousislis teveyous gers noisnexeacxenciesalete orem te 169 
ChromdS i PUNCEDPPITNE Si fare redetove te loitehe tole toloteteietsitatelle euameee se 169 
HYDSYV PODS GEMDTECUNAUS sc cayateneverccoisdevetotsleravevaleneteteterererciorre 170 

Mugiloidei 
Mugilidae 

MUTA SOD 0 66 eS Siew te te eS fo 6% To. Tale ites RTOS ate ena ame re te ete 170 
Percoidei 

Apogonidae 
HOWCTE ALD TOT CI tats See % (oo oto whe SRE Te ae ee aw ever aIe ise Sits 170 

Bramidae 
IAI SO Plot volrotetoiteyfoltefolfeltereltclioite telteleletelteliel'e cialclalaletanaiateliatateletate 170 

CAarangniGaemrsrisisiacieis. cuca ciedatetetere, syokeychepeussedeuekswouekoncucyol.crekeieneetens 7a. 
SCETOM Ahad ANGI & ff: ole cotetetele Yotoive\'elefusie tetas Meenas ore tare tere tets ili 
Prachurus <SyMMCECTzI CUS) (oi6ic.ex6. 60d <acuersheseusvexersneisiehotere erate IG)? 

Caristiidae 
CarUSEDLUSHMACT OPUS) + 11% Maes (o.2oto vowtae ava le Roe CANCION leh scone vs IWS 

Coryphaenidae 
Cory phacnat HUPPULUSH % toleic wlateiolelsisysnelernelelerajeteteie te wisieiele 75 

GEEFEWAAYS? vrerrele ike pene res iia ite ho MRIS ae ayes Ss ic ahs OS Aiea evelovens a5 
Heal @mupiticl aS ioran sed silat Setarains faye ll ote chohveron Syeh’on’suconre neh cheveye\ekeualeteteveredeaehers 175 
Kyphosidae 

CERO ay nuGru Cans mensiuetasever ersddier, cielo ia eoe aaeren tbo eee te teloneMens 176 
Meaialuna CalifOrniensSisS® ¢ i046 3.< 4i.d wn Selete eae et etene 176 

Malacanthidae 
CavloValrhusy PEUENCCDS. .6.:6.Syocsxsi/audyscare seis cccauoustetete See 176 

SCLASHIGAC SSS ye Bel SMe LIPS sada gonapsuciolonsysus lexckeusgeaemeusneusie vere 76 
SCrPEANMGACy Teh Wee RON Sam A mba mA hese teeter 178 

Scombroidei 
Gempy laid aerisisng tate iran le Ris clam latare etnies a rogacueuebemetetens tebe Vebe to xeus 179 
sofa) iilop aio loo bo oe Re RR Ce ee eh en re rk are ee 180 

PA ED SETS Ae SOS iste Haifa a lau's eure deta steven weve aor Sole le tey.c eaebeteheuers is te lopene 180 
SALAAM CDIMMUOCISTS yore ’s-% tu lato, leteatoyete Overs al enn eke erate ase ois Kenaize 180 
SCOMDET iFADONE CUS. ‘a % jt te even morale ete eis euevereu ere AEC eieLevolaie 180 
SCOMDCTEOMOGUS MSPPlem olelelelolchekelelelolelencnolclelohe oieleketoneter Totewe 181 

PIT SHUI UA ACME ara Ahotte ialbol ices oo Wat als eueu ous onenonsinineheyah ond te tepenebeeie reac vere 181 
Sphyraenoidei 

Sphyraenidae 
SPDYFACNAmaALGeCNE CAS a raieletoyele eleie! eels rele oto stone rele) etree see 182 

Stromateoidei 
Centrolophidae 

BELCRERYS LOCKPAQEONE | 6. sisiess ss: ahe)o.< alles o) sonar aiciereteraterene 183 
NOMmed dae@w tone. 45 265 oR cee 8% SK sce.5 SS TSS Bie are enone 184 
Stromateidae 

PEPE USC STINT PIUMUSI 5.5 ws ARR 5 ete eee ee Sie eer nae a. oie 184 
Tetragonuridae 

BER GAGONUITUS SCUUMOTN, joucisyalsiooiciaseseusiesstegatetorenceeke keke celts 185 
Trachinoidei 

CHiiagSmMoGomt TAAC) v)4/< eicrersie ac0)'s, 01 ctecsvers eve etevovey ete reinionene okene vel emetene 185 
PLEUrONeCEMEORMESM.7iuh. Walehee ete et Nie e A ielehe ce mieiemyore eastern 186 
Pleuronectoidei 

Paralichthyidae 

Pre, 



CHEMMALEIMEMUS FV). ogoooocs0cceceoscoo0cCDO DDD OOOS 
CrEenarichie ny sSmSt1GMNACUS mM crleloy ere stolereisbelerelenciche) cheienener ore 
isbljejyoilosculina) SlEOMENEE) oGooooooomad6udgugcousoGoooS 
Paralicpenys, Cala FOENLTCUS . < s«cste dusne 4, slic eis. as, ele ee 
Syacium ovale eececeeereeeoereeee eee eee eee eee eee eee eee 

MV SERCH LYSED ROLES sercictelis oclcte tote «i ciierehoielc sie se eters eens 
Pleuronectidae 

Glyptocephalus FACHLTEUS. sisi as aieares shay o's e's Svar set ciahers 
EFOSC DSASG2) CMIGEWUIRIER soocconocCD DDH ODOC DKadDOOOS 
HEPIGOPSCE Ca yD TL UMCACA a ore airey holei si eisitaysversue odelcy's enelenjsns 
PV ODSCE Gay CxS ae eWel ololialis) icon oth ciel enouoreiist oi:cioie/ eke aialare 6) 
MUCEOSECONUSMOAC IkliCUSIE taetneenelen ctor cetene tener ener ens) aienenerens 
PREVA OMUAKS WEES cooaccgoc0d cod ooo Ooo DODD ad Uo bOoO> 
Pleuronichthys 
Pleuronichthys 
Pleuronichthys 
Pleuronichthys 
Pleuronichthys 

ESDP istectst ons ress ol elec orcuns sietcleve e\s<o10) en 8 6 onthe: = 
POCTOSUS © (6 tees sr tyst nec a sic. oo shel oye) Ss 
GECUETRCIS veto on chasetotrerics'e exter Scene eh eueie ef ene) 

PTS OTL. as Sie isso ie (res SB eo) 0. 0) @5ve erehen eho Stace 

Viel Call TiShe ca apeseyisrieyatisitone 6 clare sus. epeetele 

PSCLELCHENYS PICT AMOSELCEUSe ac cisis ars so) s/s) lore apehel ai one) oie 
Soleoidei 

Cynoglossidae 
Symphurus spp. 

SOMEHAAC! s cse. sees 
Tetraodontiformes 

Tetraodontidae .... 
Disintegrated fish larva 
Unidentified fish larva 

GPO, 583-795/69650 

ceceecewe eee eee eee ee eo eee ewe ee eee eee eee 

oceerereere eee sce cee eee eer eee eee eee ee ee 

eee ee eee eee eee eee ee eee eee eee eee eee 

eoeerecer eo eee e eee ee eee ere eee eee eee eee eee 
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(September 1987) 

Ichthyoplankton and station data for California Cooperative 
Oceanic Fisheries Investigations survey cruises in 1960. 
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